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=[2n],.5=[2x],.6=[2n]].

[f(X)—

2= [f( +h)=

Ans9 =

(x+h)

Diff0l1 Answers for No.8765
a:S a:5
Ansl = (k=28), , Ans2=(k=4), , AnSS—[b:_J, , Ans4—[b:3}
'21_:((62’491)) i 1 =[f(a)=133] ]
' _3 —,8 2=[f(b)=146.12, h=0.2, RateOfChange = 65.600 ]
AnsS = 4_(; 14) , Ans6=| .3=[f(c)=139.48, h=0.1, RateOfChange = 64.800 ]
' _5 _’5 4=[f(d)=133.6408, h =0.01, RateOfChange = 64.080 ]
‘6:4 L .5 =[RateOfChange at the point a = 64 ] il
I=[fr)=27r] 1 I d=[f(r)=mnr"] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)]
Ans7 = 3= [27T(’”+h) 2“’”} , , Ans8 = n(r+h) —mr
L[ 4=[27nr],.5=[4n],.6=[147]]]

ﬁxz}
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Diff0l1 Answers for No.8767
a=3 a=>5
Ansl = (k=-7), , Ans2=(k=06), , Anﬁ_[bz&}’ , Ans4—[b:7}
“=NS 2=[f(b)=45.72, h = 0.2, RateOfChange = 33.600]

3=[f(c)=42.28, h =0.1, RateOfChange = 32.800 ]

3=8 Ans6 =
A4 =[f(d)=39.3208, h=0.01, RateOfChange = 32.080 ]

Anss =
BI=| 4 (5.13))

2 z i L .5 =[RateOfChange at the point a = 32 ]
i I=[f(r)=2nr] ] | A =[f(r)=nr] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)]
Ans7 = 3_[2n(r+h)—2nr} , , Ans8= 3 [n(r+h)2—nr2}
. - h . = h
[4=[2n],.5=[2x],.6=[2m]] L[4=[2=nr],.5=[12n],.6=[14x]].
_ «/;xﬂ N
.]:[f(x)z 4 ]
2 a
.2:[f(x+h):@} t
Ans9 = «/g(erh)z_«/;xz ) ) é
. 4 4 M
h U
2] 2B ]
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Diff0l1 Answers for No.8768
a=>5 a=4
Ansl =(k=17), , Ans2=(k=2), , AnSS—[b:_?J, , Ans4—[b:2}
:;;?g;hi;% i .]5:[f(a)::51] ]
' _3 _’7 2=[f(b)=57.20, h=0.2, RateOfChange = 31.000 ]
AnsS = 4_'(; 1) , Ans6=| .3=[f(c)=54.05, h=0.1, RateOfChange = 30.500 ]
_5 _’3 4 =[1f(d)=51.3005, h=0.01, RateOfChange = 30.050 ]
.6:2 L .5 = [RateOfChange at the point a = 30 ] J
d=[f(r)=27nr] ] | A =[f(r)=n] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)]
Ans7 = 3_[275(”"‘}1)—27””} , , Ans8= n(r+h) —mr
[4=[2n],.5=[2n],.6=[2n]]] [4=[2nr],.5=[14n],.6=[127]]]

ﬁxz}
2
2= [f( +h)—[(x+h)}
(x+h) fx
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Diff0l1 Answers for No.8779
a=2 a=3
Ansl =(k=4), , Ans2=(k=3), , Ans3—[b:_l4}, , AnM_[sz
2] :((83 338)) _ = [Ra)=25] |
3.7 2=[f(b)=30.88, h=0.2, RateOfChange = 29.400 ]
AnsS = 4_(_4 6) I , Ans6=| 3=[f(c)=27.87, h=0.1, RateOfChange = 28.700 ]
) _5 - ’3 4=[f(d)=25.2807, h=0.01, RateOfChange = 28.070 ]
s B ) L .3 =[RateOfChange at the point a =28 |
d=[f(r)=2mr] i d=[f(r)=mnr"] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)"]
Ans7 = _[2ﬂ(r+h)—2ﬂr} , ., Ans8= n(r+h) —mnr
= . _ ;
[4=[2n],.5=[2n],.6=[2n]]. L[ 4=[2nr],.5=[4n],.6=[6n]]
_[f _ﬁxﬂ
- ()C)— 4 _M_
{3 (x4 hY a
=|f(x+h)= 4 ¢
Ans9 = I3 eeny 435 . é
4 4
3= M
h U
3 743 L 7 ]
2] 20
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X

Diff0l Answers for No.9404

Ansl = (k=4), , Ans2=(k=2), , Anssz[b“_zlﬂ, , Ans4=[2iﬂ
) [ = [f(a) =29]
' ‘3 = 2=[f(b)=33.96, h=0.2, RateOfChange = 24.800 ]
AnsS = 4_'(_ 16) , Ans6=| 3=[f(c)=31.44, h=0.1, RateOfChange = 24.400 ]
' ‘5 5 4=[1f(d)=29.2404, h = 0.01, RateOfChange = 24.040
.6:4 L .5 =[RateOfChange at the point a = 24 ]
d=[f(r)=27r] I J=[f(r)=nr]
=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)"]
Ans7 = [27f(r+h) 27”} , , Ans8= n(r+h)2—nr2}
B h
=[2n], 5—[2Tr] 6=[2n]]l [4=[2nr],.5=[6n],.6=[16n]]]
[
=| f(x)= 4 - .

[Page = 0005]

=[f(x+h)=

ﬁ(whﬁ}
4

Ans9 =

E

3 e
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5=[4ﬁ1,.6=[3ﬁ]}
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Diff0l1 Answers for No.9440
a:6 a:3
Ansl =(k=2), , Ans2 =(k=2), , Ans3—[b:1}, , Ans4—[b:5}
é]j((61’327)) _ =1fa)=50] |
’ _3 5 2=[f(b)=54.92, h=0.2, RateOfChange = 24.600 |
AnsS = 4_(_2 5) , Ans6=| 3=[f(c)=52.43, h=0.1, RateOfChange = 24.300 ]
) _5 N ’3 =[f(d)=50.2403, h = 0.01, RateOfChange = 24.030 ]

6 B N L .5 =[RateOfChange at the point a =24 ]
I=[fr)=27r] ] I d=[f(r)=nr] |
=[f(r+h)=2n(r+h)] 2=[fr+h)=n(r+h)]

Ans7 = [27f(r+h) 27”} , , Ans8= 3 [Tt(r+h)2—nr2}
o h
=[2n],.5=[2n],.6=[2x]]] [4=[2nr],.5=[16n],.6=[6n]]]

ﬁxz}
2= [f( +h)—[(x+h)}
(x+h) fx

[f(X)—

Ans9 =

NQX® s>~ K
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Diff0l Answers for No.9474
a=2 a=2
Ansl =(k=T7), , Ans2 =(k=4), , Ans3 = [b—l}’ , Ans4—[b:4}
250w " 1=lno- 1] “
’ _3 s 2=[f(b)=17.20, h=0.2, RateOfChange = 21.000 ]
AnsS = 4_(_5 6) ' , Ans6=| .3=[f(c)=15.05,h=0.1, RateOfChange = 20.500 ]
) _5 N ’3 =[f(d)=13.2005, h = 0.01, RateOfChange = 20.050 ]

s B ) L .5 =[RateOfChange at the point a =20 ]
I=[fr)=27r] ] I d=[f(r)=nr] |
=[f(r+h)=2n(r+h)] 2=[fr+h)=n(r+h)]

Ans7 = [27f(r+h) 27”} , , Ans8= 3 [Tt(r+h)2—nr2}
o h
=[2n],.5=[2n],.6=[2x]]] [4=[2nr],.5=[6n],.6=[10n]]]

JEf}

:[f(x): 4
2
.2:[f(x+h)=@}

3 Geny o35
4

4

Ans9 =

T h
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Diff0l Answers for No.9607
a=2 a=28
Ansl = (k=3), , Ans2=(k=06), , Ans3 = [b—l}’ , Ans4—[b:5}
‘21_:((64’179)) i 1 =[f(a)=133] l
' ‘3 e 2=[f(b)=146.12, h = 0.2, RateOfChange = 65.600 ]
AnsS = 4;(; 12) 0 , Ans6=| .3=[f(c)=139.48, h=0.1, RateOfChange = 64.800 ]
' _5 s =[f(d) = 133.6408, h = 0.01, RateOfChange = 64.080]
‘6:4 L .5 = [RateOfChange at the point a = 64] i
d=[f(r)=27nr] ] | A =[f(r)=n] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)"]
Ans7 = 3_[275(”"‘}1)—27””} , , Ans8= n(r+h) —mr
3= p _ p
[4=[2n],.5=[2n],.6=[2n]]. [ 4=[2nr],.5=[127],.6=[10mr]]]
f _ﬁxz
(x)= "]
f(x+h> a
2=|fx+h)y=""" p
Ans9 = (x+h) fx |k
@
M
U
L T ]
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Diff0l1 Answers for No.9965
a=23 a=28
Ansl =(k=29), , Ans2=(k=3), , Ans3—[b:1}, , Ans4—[b:4}
22y ' 1= 11(0)=5] '
T 2=[f(b)=7.52, h=0.2, RateOfChange = 12.600 ]

AnsS = 4 ;3(: 814) , , Ans6=| .3=[f(c)=6.23, h=0.1, RateOfChange = 12.300]
R 4=[f(d)=5.1203, h = 0.01, RateOfChange = 12.030
‘6 B 4 L .5 = [RateOfChange at the point a = 12]

i d=[f(r)=2nr] ] d=[f(r)=mnr"]
2=[f(r+h)=n(r+h)]

2=[f(r+h)=2n(r+h)]
Ans7 = 3_[2n(r+h)—2nr} , , Ans8= 3 [n(r+h)2—nr2}
. - h . = h

[4=[2n],.5=[2n],.6=[2n]]. [ 4=[2nr],.5=[4n],.6=[8n]]

ﬁxﬂ

A =[f(x)= 1

M

2 a

2= f(x+h)=m t

4 h

Ans9 = ﬁ(x+h)2_ﬁx2 e
i 4 4 by

h U
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=[f(r+h)=2n(r+h)]
{2n(r+h) 2nr}

=[2n], 5—[21c] 6=[2n]]

b

Ans8 =

b

[4=

Diff0l1 Answers for No.10186
Ansl = (k=1) Ans2 = (k=2) Anssz[“:ﬂ Ans4=[a:4}
7 7 b=-51 7~ b=2
.é]= ((74,256)) =[(a) =37]
3 ’7 2=[f(b)=43.72, h=0.2, RateOfChange = 33.600 ]
) (5.10) , Ans6=| .3=[f(c)=40.28, h=0.1, RateOfChange = 32.800 ]
S_s 4=[f(d)=37.3208, h =0.01, RateOfChange = 32.080 ]
:6= 4 L .5 = [RateOfChange at the point a = 32 ] J
d=[f(r)=2nr] d=[f(r)=mnr"]
2=[f(r+h)=n(r+h)]

B TC(7’+h)2—TCI”2:|
o h
[2nr],.5=[6m],.6=[16m]]

2 i
NS e
2

2= [f( +h)—[(x+h)} )

Ans9 = (x+h) fx , é

M

U
(5.8

S I R S |
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Diff0l Answers for No.10203
Ansl = (k=17), , Ans2=(k=3), ,Ans3=[giﬂ, ,Ans4=[2ig
320 " =[ft)=59] “
' ‘3 e 2=[f(b)=66.44, h=0.2, RateOfChange = 37.200]
AnsS = 4_(_4 6) I , Ans6=| .3=[f(c)=62.66,h=0.1, RateOfChange = 36.600 ]
' _5 5 4=[f(d)=759.3606, h = 0.01, RateOfChange = 36.060 ]
s B ) L .3 =[RateOfChange at the point a = 36|
i A=[f(r)=2nr] ] I d=[f(r)=mnr"] |
=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)"]
Ans7 = [27f(r+h) 27”} , , Ans8= n(r+h)2—nr2}
B h
=[2n], 5—[2Tr] 6=[2n]]l [4=[2nr],.5=[10n],.6=[4n]]]
_[f _ﬁxﬂ
- ()C)— 4 _M_
A3 (x4 a
=|f(x+h)= 4 ¢
Ans9 = I3 (e n)? 4322 : é
4 4
3= M
h U
3 743 | T
D] |22 ]
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Diff0l Answers for No.10215
a=-17 a=2
Ansl =(k=4), , Ans2=(k=06), , Ans3—[ bo1 }, , Ans4—[b:4}
' _3 _’7 2=[f(b)=37.88, h=0.2, RateOfChange = 29.400 |
AnsS = 4 - (:1 12) , Ans6=| 3=[f(c)=34.87, h=0.1, RateOfChange = 28.700 ]
T 4 =[1(d)=32.2807, h=0.01, RateOfChange = 28.070 ]

.3 =[RateOfChange at the point a =28 |

5=5
. 6=4 | -
d=[f(r)=27nr] ] | A =[f(r)=n]
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)]
Ans7 = 3_[2n(r+h)—2nr} , , Ans8= ; Tt(r+h)2—nr2}
3= p 3= p
[4=[2n],.5=[2n],.6=[2n]]] [ 4=[2nr],.5=[4n],.6=[8n]]

ﬁxﬂ

A =[f(x)= 1

M
2
2= f(x+h)=m L;
4 h
Ans9 = ﬁ(x+h)2_ﬁx2 e
4 4 by
U
T

T h
[ 25]

[4_
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Diff01l Answers for No.10889
-4 a=2
Ansl = (k=16), , Ans2=(k=5), , Ans3 = [b 3} , AnM_[sz
B " 1=lo=o] “
' _3 6 2=[f(b)=47.92, h=0.2, RateOfChange = 24.600 ]
AnsS = 4_(_2 9) f , Ans6=| .3=[f(c)=4543, h=0.1, RateOfChange = 24.300 ]
' _5 - ’3 =[f(d)=43.2403, h = 0.01, RateOfChange = 24.030 ]
6 B N L .5 =[RateOfChange at the point a =24 ]
i d=[f(r)=2nr] i | d=[f(r)=nr] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)]
Ans7 = 3_[275(”"‘}1)—27””} , , Ans8= n(r+h) —mr
[ 4=[2n],.5=[2n],.6=[2n]]] [4=[2nr],.5=[4n],.6=[6n]]]

ﬁxz}
2= [f( +h)—[(x+h)}
(x+h) fx

[f(X)—

Ans9 =

NQX® s>~ K

- 9

£ [15] 0]
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Diff0l Answers for No.10981

a=-16 a=2
Ansl =(k=0), , Ans2=(k=3), , Ans3—[ b3 }, , AnM_[sz
' ‘3 _ 2=[f(b)="73.68, h=0.2, RateOfChange = 43.400]
AnsS = 4_'(; 10) , Ans6=| 3=[f(c)=69.27, h=0.1, RateOfChange = 42.700 ]
T 55 4=[f(d)=65.4207, h = 0.01, RateOfChange = 42.070 ]
.6:2 L .5 =[RateOfChange at the point a = 42 ]
A=[f(ry=2nr] ] | d=[f(r)=nr"] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)]
Ans7 = 3_[2n(r+h)—2ﬂr} , ., Ans8= n(r+h) —mnr
[ 4=[2n],.5=[2n],.6=[2n]]] [4=[2nr],.5=[6n],.6=[8n]]]
]_[f _«/;x2}
A= 1f(x)= 4 gva
A3 (x4 a
2=l fre by =" t
Ans9 = I3 eeny 435 . é
B 4 4 Y,
- p ;
3 | T
[.4=[%},.5=[4«/§],.6=[3«/§]}
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Diff0l1 Answers for No.10996
a=1 a=38
Ansl =(k=4), , Ans2 =(k=2), , Ans3 = [b 3} , Ans4—[b:2}
'2]_: ((52’127)) | 1 =[f(a)=24] |
' _3 s 2=[1f(b)=29.88, h =0.2, RateOfChange = 29.400 ]
AnsS = 4_(_3 5) , Ans6=| .3=[f(c)=26.87,h=0.1, RateOfChange = 28.700 ]
' _5 N ’3 =[f(d) =24.2807, h = 0.01, RateOfChange = 28.070 ]

s B ) L .3 =[RateOfChange at the point a =28 |
d=[f(r)=271r] ] I A =[f(r)=n] |
=[f(r+h)=2n(r+h)] 2=[fr+h)=n(r+h)]

Ans7 = |:27I(I”+h) 2nr} , ., Ans8= ; Tt(r+h)2—nr2}
o h
2n]5—[2n]6’[2ﬁﬂ [4=[2nr],.5=[14n],.6=[4n]]]

ﬁxﬂ

:[ﬂx): 4

.2:[& +h J_(x+h)}
f<x+h> fx

4

Ans9 =

B h

2] o]

NQX® >~ X

{4_
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Diff0l Answers for No.11386

a=-21 a=>5
Ansl =(k=1T7), , Ans2=(k=5), , Ans3—[b:1 }, , Ans4—[b:7}
32 5) " 4~ [Ra) =331 “
' ‘3 = 2=[f(b)=138.88, h = 0.2, RateOfChange = 29.400
AnsS = 4_'(; 12) , Ans6=| .3=[f(c)=35.87,h=0.1, RateOfChange = 28.700 ]
' _5 s 4=[f(d)=33.2807, h=0.01, RateOfChange = 28.070 ]
.6:4 L .5 = [RateOfChange at the point a =28 ]
d=[f(r)=2mr] T i d=[f(r)=mnr"] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)]
Ans7 = 3_[275(”"‘}1)—27””} , , Ans8= n(r+h) —mr
[4=[2n],.5=[2n],.6=[2n]]] [[4=[2nr],.5=[14n],.6=[16T]]]
]_[f _ﬁxﬂ
A= 1f(x)= 4 oYa
A3 (x4 a
2=y =" p
Ans9 = I3 eeny 435 : é
_ 4 4 M
- p o
3 | T
[.4=[%},.5=[4«/§],.6=[2«/§]}
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Diff0l Answers for No.11394
a=1 a=17
Ansl =(k=2), , Ans2=(k=3), AnSS—[b:_J, , Ans4—[b:2}
) _3 —,6 2=[f(b)=12.36, h=0.2, RateOfChange = 16.800 ]
AnsS = 4;(; 13) 0 , Ans6=| .3=[f(c)=10.64, h=0.1, RateOfChange = 16.400 ]
) _5 _’5 4=[1(d)=9.1604, h = 0.01, RateOfChange = 16.040 ]
‘6:4 i .5 = [RateOfChange at the point a = 16]
I=[fr)=27r] 1 I d=[f(r)=mnr"] |
=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)]
Ans7 = |:27'C(I"+h) 2757'} 5 5 Ans8 = 3 |:n(r+h)2_nl"2:|
o h
=[2n],.5=[2n],.6=[2x]]] [4=[2nr],.5=[12n],.6=[6n]]]

ﬁxz}
2= [f( +h)—[(x+h)}
(x+h) fx

[f(X)—

Ans9 =

NQX® s>~ K

- 9

£ [25] 0]
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a=4
Ansl = (k=-4), , Ans2=(k=06), , Ans3 = [b 3} , AnM_[b:J
:;L?g;hiiz | =[f(a)=31] |
' _3 7 2=[1f(b)=35.96, h=0.2, RateOfChange = 24.800 ]
AnsS = 4_(_3 9) , Ans6=| 3=[f(c)=33.44, h=0.1, RateOfChange = 24.400 ]
' _5 N ’3 4=[1(d)=31.2404, h = 0.01, RateOfChange = 24.040 ]
6 B N L .5 =[RateOfChange at the point a =24 ] J
I=[fr)=27r] I d=[f(r)=mnr"] |
2=[f(r+h)=n(r+h)’]

=[f(r+h)=2n(r+h)]

Ans7 =

=[2n], 5—[21c] 6=[2n]]

{2n(r+h) 2nr} ,

[f(X)—

Ans8 =

b

ﬁxz}
f(xuﬂ

[4=

B TC(7’+h)2—TCI”2:|
o h
[2nr],.5=[167],.6=[8n]]

2= [f( +h)=

Ans9 =

(x+h)

«/7x

35

£, k).

[.4—
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Diff0l Answers for No.11456
1 a=>5
Ansl =(k=16), , Ans2 =(k=2), , Ans3 = [b 23} , Ans4—[b:2}
2] :((83 338)) r —[f(a)=68] ]
i 2=[f(b)=76.68, h=0.2, RateOfChange = 43.400 |
AnsS = 4_(_4 6) I , Ans6=| 3=[f(c)=72.27,h=0.1, RateOfChange = 42.700 ]
' ‘5 5 4=[f(d)=68.4207, h = 0.01, RateOfChange = 42.070
6 B N L .5 =[RateOfChange at the point a = 42 ] J
d=[f(r)=27nr] | A =[f(r)=n] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)"]
Ans7 = _[2n(r+h)—2nr} ., Ans8= T (r+hY—n i
. p _ p
[ 4=[2n],.5=[2n],.6=[2n]]] [4=[2nr],.5=[14n],.6=[167]].
f _ﬁxz
(x)= ]
f(x+h)2 a
2=\f(x+h)y="7"7"""7"7- t
h
Ans9 = (x+h) fx .
@
M
U
543 T
[4={ ,. B },.6:{ /\/7}}
i 2 2 2
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X

Diff0l Answers for No.11496

Ansl = (k=8), , Ans2=(k=6), , Ans3= [b_;ﬂ : Ans4=[2iﬂ
éfgﬁig; i = [f{a)=43]
' ‘3 g 2=[f(b)=49.20, h = 0.2, RateOfChange = 31.000 ]
AnsS = 4_'(; 15) , Ans6=| .3=[f(c)=46.05,h=0.1, RateOfChange = 30.500 ]
T 4 =[f(d)=43.3005, h = 0.01, RateOfChange = 30.050]
.6:4 L .5 = [RateOfChange at the point a = 30 ]
d=[f(r)=27r] I J=[f(r)=nr]
=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)"]
Ans7 = [27f(r+h) 27”} , , Ans8= n(r+h)2—nr2}
B h
=[2n], 5—[2Tr] 6=[2n]]l [4=[2nr],.5=[16n],.6=[4n]]]
|3 2
= f(x): 4 - -

[Page 0020]

=[f(x+h)=

ﬁ(whﬁ}
4

Ans9 =

E

3 e

35
4

4

5]

h

5=[4ﬁ1,.6=[2ﬁ]}
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Diff0l1 Answers for No.11509
a:2 a:8
Ansl =(k=4), , Ans2 =(k=4), , AnSS—[bzlg}, , Ans4—[b:3}
S " 1=l =63) “
S 2=[f(b)=73.68, h=0.2, RateOfChange = 43.400]
AnsS = 4_(; 14) , Ans6=| 3=[f(c)=69.27, h=0.1, RateOfChange = 42.700 ]
B 4=[f(d)= 654207, h=0.01, RateOfChange = 42.070]
.6:4 L .5 =[RateOfChange at the point a = 42 ] ]
d=[f(r)=27nr] ] | A =[f(r)=n] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)"]
Ans7 = 3_[275(”"‘}1)—27””} , , Ans8= n(r+h) —mr
3= ; 3= p
[4=[2n],.5=[2n],.6=[2n]]] [[4=[2nr],.5=[127],.6=[167]]]
-2
(x)= A
f(x+h) a
2=\f(x+h)y="""- t
Ans9 = (x+h) fx |k
@
M
U
L T ]




Diff0l Answers for No.11539
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a=-43 a=3
Ansl =(k=2), , Ans2 =(k=2), , Ans3—[b:2}, , Ans4—[b:8}
‘21_:((;’226)) i d=[fa)=118] ]
' _3 _6 2=[f(b)=129.48, h=0.2, RateOfChange = 57.400 ]
AnsS = 4 _(_ 5) , Ans6=| .3=[f(c)=123.67, h=0.1, RateOfChange = 56.700 ]
_5_ ; 4=[f(d)=118.5607, h=0.01, RateOfChange = 56.070 ]
6 B ) L .5 =[RateOfChange at the point a = 56| |
I=[fr)=27r] I I=[f(r)y=nr] |
2=[f(r+h)=n(r+h)]

Ans7 =

2=

[(f(r+h)=27n(r+h)]
Ans8 =

T h

h

TC(7’+h)2—TCI”2:|

L[.4

{2n(r+h) 2nr} , ,

[4=

[2nr],.5=[16n],.6=[8n]]

Ans9 =

[4
):0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:¢

=[2n],.5=[2x],.6=[2n]].

ﬁxﬂ

[f(X)—

2
2= [f( +h)—[(x+h)}
(x+h) fx
], [, ]
2 2

35

2

N
-

|

NS X® >~ X




Diff0l Answers for No.11585

Ansl = (k=3), , Ans2=(k=4),
1=(1,8) ] _
.2=(6,43)

3=17
AnsS = 4= 1) , Ans6 =
JS5=3
L 6=2 -
A=[f(r)y=2nr]

=[f(r+h)=2n(r+h)]
{2n(r+h) 2nr}

Ans7 =

=[2n], 5—[21c] 6=[2n]]

b

[f(X)—

3=
4=[f(d)=37.1602, h = 0.01, RateOfChange = 16.020 ]
.5 =[RateOfChange at the point a = 16 ] J

Ans8 =

b

ﬁxz}
f(xuﬂ

[4=

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXX XXX XXX KKK XKLL XKL XKL LKL KKK LXK LXK XKL KKK X KKKKKKKKKME6/1-6300205-00023XX

- a="7
, Ans3 = [b 28} , Ans4—[b:5}

=[f(a)=37]
2=[f(b)=40.28, h=0.2, RateOfChange = 16.400 ]
=[f(c)=38.62, h = 0.1, RateOfChange = 16.200 ]

d=[f(r)=mnr"]
2=[f(r+h)=n(r+h)]
5o TC(7’+h)2—TCI”2:|
' h
[27nr],.5=[16x],.6=[47]]]

2= [f( +h)=

Ans9 =

(x+h)

«/7x

35

(5] 25 o

[.4—
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Diff0l1 Answers for No.11593
a=1 a==6
Ansl = (k=3), , Ans2=(k=06), , Ans3 = [b 5} , Ans4—[b:3}
'2]_: ((41’261)) | 1 =[fla)=28] |
' _3 _s 2=[f(b)=32.20, h=0.2, RateOfChange = 21.000 ]
AnsS = 4_(_2 9) , Ans6=| .3=[f(c)=30.05,h=0.1, RateOfChange = 20.500 ]
' _5 - ’3 =[f(d)=28.2005, h = 0.01, RateOfChange = 20.050 ]

s B ) L .5 =[RateOfChange at the point a =20 ]
I=[fr)=27r] 1 I d=[f(r)=mnr"] |
=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)]

Ans7 = [27f(r+h) 27”} , ., Ans8= 3 [Tt(r+h)2—nr2}
o h
=[2n],.5=[2n],.6=[2x]]] [4=[2nr],.5=[14n],.6=[8n]]]

ﬁxz}
2= [f( +h)—[(x+h)}
(x+h) fx

[f(X)—

Ans9 =

NQX® s>~ K

- 9

£ [15] 0]
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2n]5—[2n]6 [2n]].

:[ﬂx): 4

=[f(x+h)=

Ans9 =

3 e

Jgf}
J5(2+hf}

4

35
4

3=
h

{2

L2

o[ oem]
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Diff0l1 Answers for No.11633
a="74 a=171
Ansl = (k=3), , Ans2 =(k=06), , AI’lS3—|:b:7}, , Ans4—[b:2}
' _3 _’7 2=[1f(b)=28.88, h =0.2, RateOfChange = 29.400 ]
AnsS = 4o (; 14) , Ans6=| 3=[f(c)=25.87,h=0.1, RateOfChange = 28.700 ]
' _5 _’5 4=[1(d)=23.2807, h =0.01, RateOfChange = 28.070 ]
.6_ 4 L .5 = [RateOfChange at the point a =28 ]
A=[f(ry=2nr] | | d=[f(r)=nr"] |
=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)"]
Ans7 = |:27I(I”+h) 2nr} , ., Ans8= ; Tt(r+h)2—nr2}
- h
L[ 4=[2nr],.5=[10x],.6=[8n]]]
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Diff0l1 Answers for No.11636
a=13 a=>5
Ansl =(k=16), , Ans2 =(k=5), , AnSS—[b::z)}, , Ans4—[b:2}
B " 1=l0=2] “
' _3 _’7 2=[f(b)=27.20, h=0.2, RateOfChange = 21.000 ]
AnsS = 4_'(; 14) , Ans6=| .3=[f(c)=25.05h=0.1, RateOfChange = 20.500 ]
' _5 _’5 =[f(d)=23.2005, h = 0.01, RateOfChange = 20.050 ]
.6:4 L .5 = [RateOfChange at the point a =20 ]
d=[f(r)=27nr] ] | A =[f(r)=n] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)]
Ans7 = 3_[275(”"‘}1)—27””} , , Ans8= n(r+h) —mr
[4=[2n],.5=[2n],.6=[2n]]] [4=[2nr],.5=[6n],.6=[8n]]]

ﬁxz}
2
2= [f( +h)—[(x+h)}
(x+h) fx

(2] 28] 25]

[.4—
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= a=06
Ansl =(k=4), , Ans2=(k=5), , Ans3 = [b 3} , Ans4—[b:3}
‘21_:((74’283)) i J=[fla)=121] |
' ‘3 s 2=[f(b)=134.12, h = 0.2, RateOfChange = 65.600 ]
AnsS = _(; 1) , Ans6=| .3=[f(c)=127.48, h=0.1, RateOfChange = 64.800 ]
R 4=[f(d)=121.6408, h = 0.01, RateOfChange = 64.080]
622 L .5 =[RateOfChange at the point a = 64 ] |
d=[f(r)=27nr] | A =[f(r)=n] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)"]
Ans7 = _[2n(r+h)—2nr} ., Ans8= T (r+hY—n i
[4=[2n],.5=[2n],.6=[2n]]] [[4=[2nrr],.5=[14n],.6=[107]]]
f _ﬁxz
(x)= ]
f(x+h)2 a
2=\f(x+h)y="7"7"""7"7- t
Ans9 = (x+h) fx .|k
@
M
U
{— )]
e |
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Diff0l Answers for No.12273
Ansl = (k=4), , Ans2=(k=4), Anssz[‘;'ﬂ, : Ans4=[giﬂ
éfﬁ;; | 1 =[f(a)=86] T
' ‘3 e 2=[f(b)=94.20, h = 0.2, RateOfChange = 41.000]
AnsS = 4_'(:1 16) , Ans6=| .3=[1f(c)=90.05,h=0.1, RateOfChange = 40.500 ]
T 4 =[f(d)=86.4005, h = 0.01, RateOfChange = 40.050 ]
.6:4 L .5 = [RateOfChange at the point a = 40]
d=[f(r)=27nr] | A =[f(r)=n] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)]
Ans7 = 3_[275(”"‘}1)—27””} , , Ans8= n(r+h) —mr
T h 3= i
[4=[2n],.5=[2n],.6=[2n]]. [ 4=[2nr],.5=[16n],.6=[12r]]]
]_[f _ﬁxﬂ
A= 1f(x)= 1 o
A3 (x4 a
2=\ et h)y =" p
Ans9 = I3 eeny 435 . é
4 4 Y,
3= p U
3 L T
[.4=[%},.5=[2«/§],.6=[3«/§]}

DG BT ISR H D 19:9:0:9:0:0.0:0.0.9:0.0:0:0:0:0.0:0:0:0:0:0:0:0:0:0:0:0:0:0:0.0:0.0.0.9.0.0.00.0.0.0.0.0.9.0.9.9.9.9.9.9.9.9.9.9.9.9.9.9.9.9.0.0.0:0:0:0:0:9:9.9.0.0.0:0:9:9:9:9:9:9.9.9.9.9.9.0.9.9.9.9.9.9.9.9.0.4
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Diff0l Answers for No.12356

a:2 a:7
Ansl = (k=-T7), , Ans2 =(k=3), , Ans3—[b:2}, , Ans4—[b:5}
R " 17 [Ra) =351 “
' ‘3 s 2=[f(b)=41.72, h=0.2, RateOfChange = 33.600 ]
AnsS = 4_'(g 1) , Ans6=| .3=[f(c)=38.28, h=0.1, RateOfChange = 32.800 ]
' ‘5 s 4 =[f(d)=35.3208, h = 0.01, RateOfChange = 32.080 ]
.6:4 L .5 = [RateOfChange at the point a = 32 ]
A=[f(ry=2nr] ] | d=[f(r)=nr"] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)]
Ans7 = 3_[275(”"‘}1)—27””} , , Ans8= n(r+h) —mr
[4=[2n],.5=[2n],.6=[2n]]] [[4=[2nr],.5=[127],.6=[167]]]
]_[f _ﬁxﬂ
A= 1f(x)= 4 oYa
A3 (x4 a
2=y =" y
Ans9 = I3 eeny 435 . é
_ 4 4 M
- p o
3 | T
[.4=[%},.5=[4«/§],.6=[3«/§]}

DG BT ISR IVACH 1D:19:9:0:0:0:0.0:0.0.9:0.0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0.0.0:0.0.0.9.0.0.0.0:0.0.0.0.0.9.0.9.9.9.9.9.0.9.9.9.9.9.9.9.9.9.9.9.0.0:0:0:0:0:9:9.9.0.0.0:0:0:0:9:9:9:9.9.9.9.9.9.9.9.9.9.9.9.9.9.9.0.4
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Diff0l Answers for No.12585

a=-28 a=6
Ansl =(k=2), , Ans2=(k=06), , Ans3—[ b6 }, , Ans4—[b:8}
'21_:((73’491)) i d=[fa)=109] ]
' ‘3 g 2=[f(b)=120.48, h = 0.2, RateOfChange = 57.400 ]
AnsS = 4;(; 14) , Ans6=| .3=[f(c)=114.67, h=0.1, RateOfChange = 56.700 ]
' ‘5 s 4 =[f(d)=109.5607, h = 0.01, RateOfChange = 56.070 ]
‘6:4 i .5 = [RateOfChange at the point a = 56 ] i
d=[f(r)=2mr] ] I d=[f(r)y=nr] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)]
Ans7 = _{2ﬂ(r+h)—27w} ., Ans8= n(r+h) —mnr
3= p 3= p
L[4=[2n],.5=[2n],.6=[2n]]] [4=[2nr],.5=[8n],.6=[10n]]]
]_[f _ﬁxﬂ
A= 1f(x)= 4 gva
A3 (x4 a
2=l fre by =" t
Ans9 = I3 eeny 435 . é
_ 4 4 Y
h U
3 L T
[.4=[%},.5=[4«/§],.6=[2«/§]}
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Diff0l Answers for No.l1l2667

X

a=2 a=4
Ansl =(k=2), , Ans2 =(k=5), , Anﬁ_[bz%l , AnS4_[b:8}
' _3 _s 2=[f(b)=7.52, h=0.2, RateOfChange = 12.600 |
AnsS = 4 N (_5 7) , Ans6 = =[f(c)=6.23, h=0.1, RateOfChange = 12.300 ]
' _5_3 4=[f(d)=5.1203, h=0.01, RateOfChange = 12.030 ]
- B 5 L .5 =[RateOfChange at the point a =12 ]
d=[f(r)=271r] I A =[f(r)=n]
=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)"]
Ans7 = , , Ans8 =

[Page = 0031]

{2n(r+h) 2nr}

=[2 =], 5—[21[] b6=[2mn]]] L[.4=
, -
:[f(x)zﬁx} -
2
:[f(erh):@}

Ans9 =

3 e

4

35
4

5]

h

E

5=[4ﬁ1,.6=[3ﬁ]}

):0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:¢

TC(7’+h)2—TCI”2:|
h
[2nr],.5=[6mn],.6=[10m]]
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Diff0l Answers for No.12678
a:2 a:6
Ansl = (k=34), , Ans2 =(k=3), , AnSS—[b:J, , Ans4—[b: 8}
'2]_:((61’50)) | 1 =[fla)=16] |
' _3 _ 7 2=[f(b)=18.52, h=0.2, RateOfChange = 12.600 ]
AnsS = 4'_ (_2 g) , Ans6=| 3=[f(c)=17.23, h=0.1, RateOfChange = 12.300 ]
' _5_’3 =[f(d)=16.1203, h = 0.01, RateOfChange = 12.030]

6 B N L .5 =[RateOfChange at the point a =12 ]
I=[fr)=27r] 1 I d=[f(r)=mnr"] |
=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)]

Ans7 = [27f(r+h) 27”} , , Ans8= ; n(r+h)2—nr2}
o h
2n]5—[2n]6’[2ﬁﬂ [4=[2nr],.5=[6n],.6=[16n]]]

ﬁxﬂ

:[ﬂx): 4

.2:[& +h J_(x+h)}
f<x+h> fx

4

Ans9 =

B h

EE e |

NQX® >~ X

{4_
):0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:¢
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a:2 (127
Ansl = (k=-T7), , Ans2 =(k=3), , Ans3=[b:4}, , Ans4=[b:2}
R " 17K =39) “
' ‘3 s 2=[f(b)=45.72, h = 0.2, RateOfChange = 33.600
AnsS = 4_(_5 7) b , Ans6=| 3=[f(c)=42.28,h=0.1, RateOfChange = 32.800 ]
' ‘5 5 4=[f(d)=39.3208, h = 0.01, RateOfChange = 32.080 ]
s B ) L .5 =[RateOfChange at the point a = 32 ] J
d=[f(r)=27nr] | A =[f(r)=n] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)"]
Ans7 = 3_[2n(r+h)—2nr} \ , Ans8 = n(r+h)Y-mr
[4=[2n],.5=[2n],.6=[2n]]] [[4=[2nr],.5=[127],.6=[107]]]
f _ﬁxz
(x)= ]
f(x+h>2 a
2=|fx+h)y=""" p
Ans9 = (x+h) fx .|k
@
M
U
L T ]

£, 5]

|

[4
):0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:¢
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Diff0l Answers for No.12696
Ansl = (k=2), , Ans2=(k=4), Ans3=[62:_-2}, , Ans4=[giﬂ
e " 1= lil=52 “
P 2=[f(b)=5820, h=0.2, RateOfChange = 31.000 ]
AnsS = 4_(_2 7) b , Ans6=| .3=[f(c)=55.05h=0.1, RateOfChange = 30.500 ]
R 4=[f(d)=52.3005, h = 0.01, RateOfChange = 30.050 ]
.6 B ) L .5 = [RateOfChange at the point a = 30] |
d=[f(r)=2mr] ] | A =[fr)=n+] |
2=[f(r+h)=2n(r+h)] 2=[fr+h)=n(r+h)]
Ans7 = 3_[2n(r+h)—2nr} , , Ans8 = n(r+h)Y—mnri
T h 3= i
[ 4=[2n],.5=[2n],.6=[2n]]] [4=[2nr],.5=[10n],.6=[12x]]]

ﬁxﬂ

A =[f(x)= 1

M
2
2= f(x+h)=m L;
4 h
Ans9 = ﬁ(x+h)2_ﬁx2 e
4 4 by
U
T

T h
[ eofi o [5

[ 4 -
):0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:¢
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X

Diff0l Answers for No.12777

a=1 a=2
Ansl = (k=-2), , Ans2=(k=06), , Ans3 = [b—-S} , AnM_[b:J
’ _3 _’7 2=[1f(b)=280.20, h = 0.2, RateOfChange = 41.000 ]
AnsS = 4_(; 14) , Ans6=| .3=[f(c)=76.05,h=0.1, RateOfChange = 40.500 ]
’ _5 _’5 4=[1(d)="72.4005, h = 0.01, RateOfChange = 40.050 ]
.6_4 L .5 =[RateOfChange at the point a = 40 ]
I=[f(r)=27r] | d=[f(r)=mnr"]
=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)"]
Ans7 = [27f(r+h) 27”} ., AnsS= n(r+h)2—nr2}
- h
=[2n], 5—[2Tr] 6=[2n]]l [4=[2nr],.5=[4n],.6=[12n]]]
_[f _ﬁxﬂ
=| o=

[Page = 0035]

=[f(x+h) =
Ans9 =

ﬁ(whﬁ}
4
3 e

4

35
4

!

E

h

5=[2ﬁ1,.6=[4ﬁ]}

):0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:¢

N
-

NQRX®s~=8 %




X Math@MUT XXXXXXXXXXXXXXXXXXXXXXKXXXXXXXKXXXXXXXX XKL XKL XXX XKLL XKL XKL LKL KKK LXK LXK KKK XXX K KKKKKKKKKME6/1-6300205-00036XX

X

Diff0l Answers for No.12785

a:7 a:2
Ansl = (k=-6), , Ans2 =(k=2), , Ans3—[b:_20}, , Ans4—[b:7}
.2]_2((62,357)) r —[f(a)=19]
' _3 —’8 2=[f(b)=24.04, h=0.2, RateOfChange = 25.200]
AnsS = 4_'(; 10) , Ans6=| .3=[f(c)=21.46,h=0.1, RateOfChange = 24.600 ]
' _5 _’5 4=[f(d)=19.2406, h = 0.01, RateOfChange = 24.060 ]
.6:4 L .5 =[RateOfChange at the point a = 24 ]
d=[f(r)=27r] I J=[f(r)=nr]
=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)"]
Ans7 = [27f(r+h) 27”} , , Ans8= n(r+h)2—nr2}
- h
=[2n], 5—[2Tr] 6=[2n]]l [4=[2nr],.5=[6n],.6=[12n]]]
_[f _«/;xﬂ
=| o=

[Page = 0036]

=[f(x+h)=

ﬁ(whﬁ}
4

Ans9 =

E

3 e

35
4

4
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h

5=[2ﬁ1,.6=[3ﬁ]}
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Diff0l1 Answers for No.13085
a=3 a=>5
Ansl = (k=3), , Ans2=(k=06), , Ans3 = [b—l}’ , AnM_[b:J
’ _3 _s 2=[f(b)=56.44, h = 0.2, RateOfChange = 37.200]
AnsS = 4_(_4 9) , Ans6=| .3=[f(c)=52.66,h=0.1, RateOfChange = 36.600 ]
) _5 - ’3 =[f(d) =49.3606, h = 0.01, RateOfChange = 36.060 ]

s B ) L .3 =[RateOfChange at the point a = 36|
I=[fr)=27r] ] I d=[f(r)=nr] |
=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)]

Ans7 = [27f(r+h) 27”} , , Ans8= 3 [Tt(r+h)2—nr2}
o h
=[2n],.5=[2n],.6=[2x]]] [4=[2nr],.5=[14n],.6=[6n]]]

JEf}

:[f(x): 4
2
.2:[f(x+h)=@}

3 Geny o35
4

4

Ans9 =

3= h
{%} 5=124/31, -6{#“_
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